Math 171 - Quiz 9 Name ey
.
November 6, 2014 Score

Show all work to receive full credit. Supply explanations when necessary.

1. E}O_/Z& p(il/nt_s) Use the linearization of h(z) = Yz + ¥z at = 1 to approximate
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2. (10/3 points) Use Newton’s method to find the smallest positive solution of
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3. (10/3 points) Some values of f(z) and f’(x) near x = 1 are given in the table below.
Find the linearization of f at 2 = 1. Then use the linearization to approximate f(0.75).

z ][050]075[1.00]1.25 L.50
f(z) | 6.036.90 | 8.00 | 9.41 | 11.14
f(z) [ 274382 | 5.00 | 6.26 | 7.60
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